TROUBLESHOOTING GUIDE

Not properly connected to

power circuit >

Correct the connection

The GFCI, leakage circuit Check the power circuit

No start at all or breaker is actuated

stops immediately

after start The |mpeller is caught Overhauling
by foreign substance
[Motor is burnt > [Repair or replace [
[Voltage drop > [Raise the voltage to the rating]

Remove foreign substance if
i - the impeller is clogged
RN el The protector is actuated

operation Lower the liquid temperature
if it is too high
[Voltage drop > [Raise the voltage to the rating]
[High delivery head > [Lower the head [
No pumping or [Discharge pipe is clogged> [Overhauling
poor performance

Overhauling

i
[Impeller wear > [Replacement [

Clogging of foreign matter
in strainer pump

PARTS LIST

PQ-55022-BAA-1

No. PARTS CODE | PARTS NAME [ STANDARD, MATERIAL [orY Jll No.] PARTS CODE | PARTS NAME | STANDARD, MATERIAL [arY
110390860 |@® Screw SUS M5x12 1| |22]0390878 |Mechanical Seal CaronlCeraicSion Cartido | 1
210390859  |Cord supporter NBR 1| |23]/0390852 |O-Ring NBR 1
310390836 |Cord band SUS 1| 240390791 |Mecha Box ADC 1
410390861  Nut SUs 1] |25/0390879 |Seal Washer SUS+NBR 1
510390795 |Handle A3+NBR 1| |26{0390850 |Socket Bolt SUS M10x16 | 1
610390857  |Washer SUS ¢6 7| |27|0390875 |Bolt SUSM6x20 |4
710390858  |Spring Washer SUS @6 15| |28]0390801 |Casing Packing NBR 1
810390856  |@® Screw SUS M6x10 2| (290390871 |Qil Seal 14x28x8 1
9(0390869  |® Screw SUS M6x20 41 [30/0390894 |Wear sleeve 1
10{0390794  |Head Cover ADC 1] |31{0390789 |Impeller TPU+SUS 1
110390799  |Head Packing NBR 1] [32|0390898 |Washer SUS ¢8 3
12/0390865  [Washer SUS ¢4 1| (330390899 |Sping Washer SUS ¢8 1
13{0390866 | Spring Washer SUS ¢4 1| |34/0390897 |Nut SUS M8 1
14| 0390864  |@Screw SUS M4x10 1| |35/0390849 |Hexagon bolt SUSM8x20 |2
15/0390863  |Hexagon Bolt SUS M5x16 2| [36[0390797  [Hose Nipple ADC 1
16/0390902  [Power Cord 1| |37]0390800 |Flange Packing NBR 1
17(0390900  |Terminal 5 3| |38/0390790 |Casing 1
18/ 0390855  |@Screw M4x10 1] |39]/0390895 |Bolt SUS M6x70 | 4
19/0390807  |Capacitor 10uF/450V 1] (400390788 |Strainer 1
20(0390862  |Capacitor clip 1| [41/0390892 |Bolt SUS M6x45 3
210398193  [Motor Set 1| (420390796 |Delivery Flange 1

1
~
1

SPECIFICATIONS

a | Connection Dia 50 mm (2")

= | Total Head 11 m (36 ft)

o Delivery Volume 220 L/min (58GPM)
Voltage AC-220V
Frequency 50 Hz

. Rated Current 2.7 A

|C_) Revolution 2800 rpm

C§> Model Induction Motor
Power Cord 5m (16.0 ft)

Standard Accessories 1 Hose Band / 1 Rope (5m)

Net Weight 11.5 kg

*Starting current is three times higher than rated current.

PERFORMANCE CURVE (USG/min)
20 40 60

80
* Performance ratings are guaranteed minimum, 12 140(ft)
not inflated maximum. \ i
*% Starting current is three times higher than g 8 30
. [a]
rated current 2 120
T
4
3 N 110
'_
@]
'_ e
0 100 200 300

DELIVERY VOLUME (L/min)

371

M

Oogoo
A ° o A
110 @170
229
-6 -
-8 -





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


